To Monsieur 'I. Albrecht

Scherzo No. 1
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(in B minor)
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Frédéric Chopin (1810-1849)
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To Mademoiselle la Comtesse Adele de Fiirstenstein

Scherzo No. 2

Op. 31
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(in B-flat minor)
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Op. 39

(in C-sharp minor)

Scherzo No. 3

To Monsieur Adolphe Gutmann

68

QLD

-:u%
Y
C
[ 7]
i
I

i em\,ﬁ it i

4
=
NP
 —
C
 —
I
¢ f2-
4 ﬁi
ten
AL
3. 3
: III
-
| |
.
|

fe |he"

d &
e |
=
J
)
1 <
1
L__J
\_/6
4
. 1|
| |
||
——
| |
9
1
3
5
1-2
s
Jf —
—
=
1
\4-3

-,
P—)—ubﬂ—
Y
risoluto
J
T e P
e
e
e
:
sdd e
P

(4
ﬂl NERCIRRE

=
.I dd
7 r )

Presto con fuoco

| |-iUI|4 Q _ _.J . r Iﬂu
CHE a2\, ]
aating o f o 11| ._.-'H|
. ““ ').‘t MY MY <t ~Q | | HL Ik ) # L]
L/ —-* :”.‘|\8 jl. - nem { wn \
[ Y
2 ﬁ o <1 | 1% _ . —TwTTe e
] Ay D
3 Auhip N ol T |l
M” Q o SR RNA 1Y, L -\ DR~
D SS i BE S H . [ A e
Hnﬂﬂ N Hﬂ.ﬂﬂ v vl i H Hﬂ.ﬂﬂ .Hm.ﬂﬂ
FNe 6 SN 6 B N 6N




Op. 54

17

(in E major)

Scherzo No. 4
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'To Mademoiselle Jeanne de Caraman
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